
3, solution 8.38 (ASTAM, 11/24, Q.1):
(a) (iii) -7.3243×10-5.

4, solution 6.60:
Posterior distribution of θ is proportional to: π(θ) f(11) = 150/(11 + θ)4, 5 < θ < ∞. 

150
(11+θ)4

5

∞

∫  dθ  = -50/(11+θ)3 ]
θ=5

θ=∞
 = 25/2048.

Posterior density of θ is: {150/(11 + θ)4} / (25/2048) = 12,288/(11 + θ)4, 5 < θ < ∞.
The posterior probability that θ exceeds 10 is:

12,228
(11+θ)4

10

∞

∫  dθ  = -4096/(11+θ)3 ]
θ=10

θ=∞
 = 4096/213 = 0.442.

  # Errata, Mahler Study Aids for ASTAM, 2025       HCM, 2/9/25     Page 1
 


